FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
DUSTIN'S FACE TO FACE GLIDERS

(WITHOUT ROOF)

f




“uas sired ay) U0 paxJewW SJaquinu a8yl 01 Yorew Jou op asay "AJuo aouaJajad 10} aJe 3]qe] sexogd JO JUsIU0)) 8y Ul SIsquinu 1ded :810N

1004 3|qeAoWay

awel 100|4

spoddng sdeng

spoddng Ba aseg

™
L

suoddng Ba

‘ON

Buimeaq

uondriosag

‘L0

S3X04d 40 INJLNOD

Pl 1

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)

www.ForeverRedwood.com



uas sured ay) UO paxJew siaquinu ayl 01 Yorew Jou op asay "AJuo aoualajad 1o} ale 3]G saxog JO JUsluoy) 8yl Ul SIsquinu 1ded :81oN

17

paJap.o J|

S1saJuly abelanag

o))

SWwy youag

S1Sa.deg yausg

suoddng youag 1oys

suoddns youag bHuo]

SleasS yauag

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

P| 2

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)

www.ForeverRedwood.com



'9z1S uo Buipuadap AJen [jIm arempaey InoA Jo suoisuswiq 810N

H L) SINN .v/g
9 SIBYsep | v/E
(suoddns sbaj ayp 01 swire ay1 yoene o)
4 \.f:_:::_::_::_:::_:::_:_ 9% _.9T/S
(suoddns sBaj ayy 01 swe ay) yoene o] )
3 \.:::::::::E:::::E:: %G X . 9T/S
q \ ~ ‘( suoddns sbaj ayp 01 oddns Baj aseq ayl yoene o)
B S0 _.£ X .91/
*(syeas youaq ay 01 72 1oddns sba| aya
ul sdeJ1s ay1 03 swe yauag ayl yaene o] /s1eas yauaq ayi o}
159080 8yl yoene o] /suoddns sbs| ayy ul sdens ay) 01 pue
o) ( ENSESEASEEE ! youag 8y 0} suoddns yousg 1oys sy yoene o /suoddns
: sBa| ay1 uI sdeuis ay1 01 1eas youag ayl Yoele o] /1ess youaq
ay1 01 spoddns youag Buoj ayy yoene o /1ay1abol suoddns
sBa aup 40 ss0Iq BY) Ydene 01) SHog |, % € X ,.9T/S
q \ ‘(1ayrabo) suoddns sBaj ayy Jo sadeiq 8yl yoene o)
. e e 109 9X .9T/S
‘(suoddns sBaj ayp ul sdesis ayy 01 Loddns sdeais ayy yoene
v 0.1 /481pa60) soddns sBa| sy Jo sadelq au Ydene o1)
) siod ,.% v X ..91/S
"ON Buimeaq uondiiosag
1SI171 3HVYMAdVvH

P|3

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)

www.ForeverRedwood.com



———

sued ay) Uo payJew sJaquinu ay) 0)
(o1ew 10U op 8say | "AJuo 8ouaJajal 1o}
aJe BUIMEI( 8y Ul S19quwinu 1ued 310N

Pa43pJo §|
1 sisalwly abelanag
0T SWwUY youag
6 s)saiyoeg youag

8 suoddng youag 1oys

] suoddng youag buoT]

9 S)eas youag

g 1004 a|qeAoway

¥ awelH 1004

€ suoddng sdens

Z suoddng BHa eseg

T suoddng sbe

ON NOILdI40s3d

P| 4

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)

www.ForeverRedwood.com



Step 1: Attach the braces in the legs supports (1) together with 5/16"" x 4 %"" bolts (A) & 5/16"" x 6”" bolts (B) as shown in the
image. After attach the braces in the legs supports with 5/16"” x 3% " Bolts (C). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16" X 3% Bolts

5/16" X 4 %2"" Bolts

5/16” X 6"" Bolts

Step 2: Assemble the base leg support (2) to the legs supports with 5/16"” x 3"" bolts (D) as shown. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16"" X 3"" Bolts

P|5
DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com



Step 3: Use 5/16”" x 4 %2"” bolts (A) to attach the straps supports (3) to the straps in the legs supports (1). Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

5/16" x 4 ¥%2"” Bolts

Step 4: Attach the floor frame (4) to the straps in the legs supports with %" washers & nuts (G & H). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

Y%~ Washers

P| 6
DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com



Step 5: Later the Step 4 put the removable floor (5) over the floor frame. Each part has a series of numbers that indicate where

to attach the part with the corresponding number.

Step 6: Use 5/16"" x 3 %" bolts (C) to attach the long bench supports (6) to the bench seat (7). Each part has a series of numbers

that indicate where to attach the part with the corresponding number.

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com

5/16" X 3% Bolts

P 7




Step 7: Use 5/16” x 3% bolts (C) to attach the bench seat (6) to the straps in the legs supports. Each part has a series of numbers

that indicate where to attach the part with the corresponding number.

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com

5/16" X 3% Bolts

5/16"" X 3% Bolts

Step 8: Attach the short bench supports (8) to the bench seats and to the straps in the legs supports with 5/16” x 3 %2"" bolts (C).
Each part has a series of numbers that indicate where to attach the part with the corresponding number.

P| 8



Step 9: Attach the bench backrests (9) to the bench seats with 5/16" x 3 %" bolts (C). Each part has a series of numbers that

indicate where to attach the part with the corresponding number.

5/16"" X 3 %" Bolts

Step 10: Use 5/16"" x 3% bolts (C) to attach the bench arms (10) to the straps in the legs supports and to the bench seats. Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com

5/16"" X 3% Bolts

Pl 9



Step 11: Finally, use 5/16”" x5 %" bolts (E) & 5/16™" x 6 2" bolts (F) to attach the arms (11) to the legs supports. Each part has
a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 6 ¥%"" Bolts

5/16" X5 %" Bolts

P| 10
DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com



This completes the Glider assembly. Hope you enjoy your set for many decades. If you ever have a
problem or a question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 11
DUSTIN’S FACE TO FACE GLIDERS (WITHOUT ROOF)
www.ForeverRedwood.com



